





6. A cube of side 10cm having bulk modules of 1 4x10' P4 1s placed in atmosphere. Now 1t

1s subjected to extra pressure of 7% 10°pPa then magnitude of change 1n volume of cube 1s

1) 0.03 mL 2) 0.3 mL 3) 0.05 mL 4) 0.2 mL
7.  In an electromagnetic wave, the magnetic filed 1s given as
4
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8.  Which of the following phenomenon 1s not explained by wave theory of light?

1) Retlection of light 2) Retfraction of light
3) Diffraction 4) Compton ettect
9. A balloon system having mass m 1s moving up with acceleration a, find the mass to be

removed from 1t to have acceleration 3a. (Neglect the volume of mass attached)

2ma 2ma ma ma
1) Ja+g 2) 2a+g 3) Ja+g 4 o —3a

10.  Mass M and radius R of a planet 1s related with mass M_ and Radius R of earth as M_ =
8Mp and R_= 2Rp* It escape speed for each 1s 11.2 km/sec, then escape speed for the planet
1S

1) 11.2+/2km/sec 2) 5.6km/sec

3) 5.6+/2 km/ sec 4) 11.2 km / sec



11.
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14.

15.

An equilateral triangle frame of side | 1s carrying current 1, find magnetic field at its
centroid
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The velocity vs time graph of a particle moving along X-axis 1d plotted as shown. The
distance travelled (1n metre) by the particle in the interval t=0stot=4 s 1s

v (m/s)
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Find energy density of the capacitor it V =20V, C =1uF and distance between the plates 1s
lum

Choose the correct option representing the energy density between the plates of a parallel
plate capacitor with plate area A, plate separation d and potential difference V.

e V* e Vd~
1) = A
£,AV? £,AV?
3) 4) 2
2d 2d

The correct variation of voltage across AB 1s given by (consider that the threshold voltage
of the diode 1s very small)

V =V, sinust
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16.

17.

13.

19.

CH,-C=CH—"—(4)—22——(B)+(C)

H, (ii) Zn,H,
Bohr’s model 1s applicable for single electron atom of atomic number Z. Dependency of frequency of
rotation of electron in n* principal quantum number 1s proportional to

1) Z/n? 2) Z*/n’ 3)n’/z 4)Z/n

Which of the group - 15 element forms 45 — 4 Bond and strongest basic hydrice?
1)z="7 2)z=15 3)z=33 4)z=151

Which of the following complex 1s paramagnetic

1) [Ni1Cl, ]* 2) [N1(CO),] 3) [N1(CN),]* 4) [Fe(CO) ]

30gm HNO, 1s added to a solution to prepare 75% w/w solution having density 1.25g/mL. Volume of
solution 1s
1)32mL 2)48mL 3)36mL 4)28mL

S-1 i and M\/ are ring chain 1somers

S-11 /\/ \/ NH3 and /\NH /\/ are functional 1somers

1) Both S-Tand S - II are correct statements

2) S-11s correct and S - II 1s not correct

3) S-11s wrong statement and S-II 1s correct statement
4) Both statement are correct

For an elementary reaction

A+B -5 C+D

When volume becomes 1/3 rd, rate of reaction becomes
1) 8 times 2) 9 times 3) 6 times 4) 2 times
Match the following List - I with List - 11

List I List - 11
A) [COF ]~ 1) sp’d”
B) [CO(NH),) ]*" 11) d*sp’
C) [NiCl, > 111) Sp°

D) [Ni(CN),]* 1v) dsp-

Choose the correct answer from the options given below
D) (A) -(1), (B) - (1), (C) - (111), (D) - (1v)

2) (A) - (1), (B) - (1), (C) - (1v), (D) - (1)

3) (A) - (1), (B) - (1), (C) - (1v), (D) - (1)

4) (A) - (1), (B) - (1), (C) - (1), (D) - (1v)

The correct name of I & II 1n the following process 1s

Solid —— vapours ——> solid

1) | — sublimation

II /7 — vaporisation
2) | — sublimation

[l — Decomposition
3) | — sublimation

[l — Deposition
4) [ — Deposition
/I — Sublimation
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B =PAP", X=PB'"P'. Find X =7

2 2 ( 4 )
11.  Letan ellipse = +y? =1. If midpoint of chord 1s \ 2, 5/ . If length of this chord 1s
a
2
\?{E .Find o ?

2025

2. Iff(x)=2x—15x2+36x + 7:[0,3] - A g(x)=—-57:{0,90) > B f(x) and g(x) are into

1+ x
functions

3. If OA=+/31+j,0B=1++/3] . If distance of the point ai + (1- a)j from the angle bisector

of OA and OB is

9
\/5 . Find a

2 2

14. x*+vy*—8x=0, X9 };r =1 intersect at A, B. A triangle formed using vertices A, B, C

whre C lies on 2x—3y + 4 = 0 find locus of centroid of A ABC

1) an

15. Iff(x)is polynomial satisfying f(x)xf = =f(x)+f ) and f(2) = 129, then find real

values of ‘k’ satistying f(k) = -2k
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